Q =150 m*s™ Q =200 m*s™ Q = 250 m’s™
plavebni km km zdrze|rel. vySka vysSka|rel. vyska vyska|rel. vyska vyska
[km] [km] [ecm]|[m. n. m.] [em]|[m.n. m.] [em]|[m. n. m.]
767,7 0,0 0 140,40 0 140,40 0 140,40
768,7 1,0 0 140,40 0 140,40 0 140,40
769,7 2,0 0 140,40 0 140,40 1 140,41
770,7 3,0 0 140,40 0 140,40 1 140,41
77,7 4,0 0 140,40 1 140,41 2 140,42
772,7 5,0 1 140,41 1 140,41 2 140,42
773,7 6,0 1 140,41 1 140,41 3 140,43
774,7 7,0 2 140,42 2 140,42 3 140,43
775,7 8,0 2 140,42 3 140,43 4 140,44
776,7 9,0 3 140,43 4 140,44 6 140,46
777,7 10,0 4 140,44 6 140,46 9 140,49
778,7 11,0 5) 140,45 8 140,48 11 140,51
779,7 12,0 6 140,46 10 140,50 14 140,54
780,7 13,0 7 140,47 12 140,52 17 140,57
781,7 14,0 9 140,49 15 140,55 20 140,60
782,7 15,0 11 140,51 17 140,57 24 140,64
783,7 16,0 15 140,55 23 140,63 31 140,71
784,7 17,0 20 140,60 31 140,71 42 140,82
785,7 18,0 30 140,70 45 140,85 56 140,96
786,7 19,0 40 140,80 60 141,00 79 141,19
787,3 19,6 50 140,90 72 141,12 95 141,35
Strekov, minimalni hladina 140,4 m. n. m.
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